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QUESTION 1
Refer to the exhibit.

VS5F-5witch$é show vsf 1lldp-mad status

MAD dewvice IP : 10.1.0.2

MHAD-probe portsetc : IFAL,LASB1 271,278,
V5F splic : No

MAD probe originacor : Mo

Humber of probe regquests sent : 0

Hunber of probe responses received
MAD Active Fragment

W i

What does the command output in the exhibit indicate about the status of an Aruba Virtual Switching Framework (VSF)
fabric?

A. The second member of the VSF fabric has not yetjoined the fabric, so LLDP-NIAD is not operational.

B. The two members of the VSF fabric cannot contact each other, and the other member is the active member.
C. The two members of the VSF fabric are currently connected.

D. The two members of the VSF fabric cannot contact each other and this member is the active member.

Correct Answer: B

QUESTION 2

Network administrators need to access an ArubaOS switch CLI remotely. How can the administrator ensure that all data
passed between management stations and the switch is encrypted?

A. Create an SSH key, enable SSH, and disable Telnet.

B. Configure operator and manager passwords for Telnet access.
C. Enable HTTPS access.

D. Create local user accounts and enable command authorization.

Correct Answer: B

QUESTION 3

Refer to the exhibit.
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An Aruba Instant cluster is added in Aruba AirWave. A network administrator needs to change the cluster management
level to Manage Read/Write. The exhibit shows the current status for the cluster. What should the administrator do
before changing the management level?

A. Determine why AirWave cannot contact the cluster and resolve any connectivity issues in the network.

B. Check the cluster SNMP credentials and resolve the mismatch between the cluster credentials and AirWave
credentials.

C. Investigate why the cluster configuration does not match the group configuration template and resolve any issues.
D. Verify that the cluster is configured with the same shared key that is configured in the global AirWave settings.

Correct Answer: D

QUESTION 4

Refer to the exhibit.
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Exhibit 1

VSF fabric

Member 1 VSE link Member 2

Exhibit 2
Switch-3% show trunks
Load Balancing Method: L3-based (default)

Porc | Name Type | Group Type
uuuuuu e e e e e T e el e e T
1 | VSF-member-1 100/1000T | Trkl LACP
2 | VS5E-memher-2 i60/1000T | Irkl LACP

Which type of link aggregation should the network administrator configure on interfaces 1/A1 and 2/A1?
A. a protocol-less trunk

B. an LACP distributed trunk

C. a distributed trunk

D. a static LACP link aggregation

Correct Answer: A

QUESTION 5

A company wants to deploy Aruba Instant APs (JAPs) at branch offices and have a configuration
automatically deployed to the APs.

How can network administrators achieve this goal?

A. Set up an Aruba Activate account and upload configuration templates and provisioning rules to it.

B. Set up configuration templates on AirWave and Aruba Activate provisioning rules that direct the Aps to AirWave.
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C. Configure Aruba ClearPass to discover the APs and push configurations to them.

D. Upload a configuration template on a management station and then connect that station to the Instant SSID.

Correct Answer: C
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